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Date Item Description

Budgetary Impact (in 
Billions)1

One Year
 (2013)

Ten Years 
(2013-22)

12/31/2012 “Bush” Tax Cuts2 Tax cuts passed in 2001/2003/2009 and 
extended in 2010 will expire. $108 $3,345

12/31/2012 AMT 30 million taxpayers will be subject to AMT in 
2012 if AMT is not indexed for inflation. $90 $937

Interaction between “Bush” Tax Cuts and 
AMT. $35 $1,072

12/31/2012 Other Expiring 
Taxes3

Several other tax provisions will expire if not 
extended. $79 $1,011

12/31/2012 “Doc Fix” Medicare’s physician reimbursement rates 
will fall 27% if “Doc Fix” is not extended. $19 $372

1/2/2013
BCA’s Automatic 
Spending 
Reductions

Reductions on defense and nondefense 
spending. $66 $1,172

$396 $7,909

OTHER FISCAL EVENTS

Late 2012- 
Early 2013 Debt Limit Federal government will hit the $16.4 trillion 

debt limit.

12/31/2012 Payroll Tax 
Holiday

Payroll tax rates will rise 2 percentage points 
when temporary holiday ends.

1/2/2013 UI benefits Long-term unemployment benefits will be 
scaled back when temporary benefits end.

KEY YEAR-END FISCAL EVENTS 

SOURCE:  Peter G. Peterson Foundation using data from the Congressional Budget Office and Department of Treasury.  
AMT = Alternative Minimum Tax; BCA = Budget Control Act of 2011; UI = Unemployment Insurance
NOTES: 

1.	 Budgetary impact includes the costs of debt service.
2.	 The major effects of the expiring Bush tax cuts: tax rates will rise 3 to 5 percentage points; top rate on capital gains rises to 20%; top rate on 
dividends rises to 39.6%; child credit falls to $500 per child; marriage penalty relief ends; and taxes on estates and gifts increase. 
3.	 Other expiring taxes include about 80 provisions, including the research and experimentation tax credit.



US FEDERAL DEBT
Total federal debt is $15.7 trillion today. The amount of debt held by the public (which excludes the trust funds 
like Social Security) is $10.9 trillion. 

Countries with debts above 90% of gross domestic product (GDP) have slower economic growth and face 
greater risks of crises, according to research by economists Carmen Reinhart and Kenneth Rogoff. GDP is a 
standard measure of the size of the economy.

Public debt is currently 70% of GDP. If we don’t change our policies, debt is projected to climb to 200% of GDP 
within 30 years.

Federal debt today is $33,500 per person; by 2035, it is projected to grow to about $125,000 per person in 
today’s dollars.

50% of U.S. federal debt is held by foreigners, up from 5% in 1970.

INTEREST COSTS
The United States currently spends about $200 billion per year on interest on the public debt. In ten years, we 
are projected to spend nearly $1 trillion per year on interest. 

By 2035, our projected interest costs will be more than 13% of GDP – four times what the federal government 
has historically spent each year on education, research and development, and infrastructure combined. By 
contrast, emerging economies are projected to spend 3% of their GDP on interest costs in 2035.

By 2055, interest payments on our growing debt are projected to exceed 100% of all federal revenues.

HEALTH CARE
Americans spend twice as much per person on health care as other advanced nations, yet on balance, our 
health outcomes are no better. By 2035, total health spending is expected to consume more than one quarter of 
our economy. 

Health care spending increases with age. People 65 and older spend, on average, 4 times more than people 
under age 65, and people 85 and older spend 7 times more than people under age 65. The number of 
Americans aged 65 and older will double between now and 2040.

100% of the projected future growth in federal non-interest spending will come from health entitlements 
and Social Security. These items will more than double as a share of GDP by 2040, while all other spending – 
including defense, education, transportation, R&D, and homeland security programs – will decline as a share 
of GDP.

KEY FISCAL FACTS



SOCIAL SECURITY
The aging of the U.S. population will affect Social Security’s finances. In 1960, there were 5 workers paying 
taxes to support 1 Social Security beneficiary. Today, there are only 3 workers per beneficiary. By 2030, there 
will be only 2.

Social Security benefits represent 80 percent of the income of the poorest 40 percent of seniors. 

DEFENSE
The United States spends more on national defense than the next thirteen countries combined.

TAXES
Tax expenditures – deductions, exemptions, credits, and other special provisions in the individual and corporate 
income tax codes – cost more than one trillion dollars each year, which is nearly as much as the federal 
government collects in individual and corporate income taxes or spends on Social Security and Medicare 
combined.

The 20 percent of households with the highest incomes receive more than 65 percent of the value of tax 
expenditures.

REVENUE INCREASES AND SPENDING CUTS
To restore the U.S. budget to a sustainable path using spending cuts alone, the entire budget (excluding 
interest costs) would have to be cut by about 30%. If defense and Social Security are exempted, everything else 
would have to be cut by about 50%.

Solving the problem through revenue increases alone would require tax increases of about 45%.
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